

Date:

Sub:

(20)

المعادلة هي

$$\frac{-b}{ra} = r \quad \frac{-1}{r(a-1)} = r \quad \Sigma a - \Sigma = -1 \quad a = \frac{r}{\Sigma} \quad (5)$$

$$0 = \frac{-1}{r} x^r + m + r \rightarrow m = \frac{-b \pm \sqrt{\Delta}}{ra} = \begin{cases} \frac{-1+r}{-\frac{1}{r}} = -r \\ \frac{-1-r}{-\frac{1}{r}} = r \end{cases}$$

1) m < 0

2) m > 0 $\rightarrow b \approx r \rightarrow b^r - \Sigma a c \rightarrow r \delta - \Sigma m^r = 0$ (5)

$$r \delta > \Sigma m^r \rightarrow -\frac{\delta}{r} < m < \frac{\delta}{r}$$

$$1 \wedge r \rightarrow -\frac{\delta}{r} < m < 0$$

$$S = \frac{r - \sqrt{\delta}}{r} + \frac{r + \sqrt{\delta}}{r} = r$$

$$P = \frac{(r - \sqrt{\delta})(r + \sqrt{\delta})}{a} = \frac{\Sigma}{a}$$

$$y = 9x^r - 1 \wedge x + \Sigma = 0$$

$$S = \frac{\Lambda}{r} \quad \alpha + \beta = \Sigma \rightarrow \beta = \Sigma - \alpha$$

$$r \alpha^r + (\Sigma - \alpha)^r = 1r$$

$$r \alpha^r + 1r + \alpha^r - \Lambda \alpha = 1r$$

$$\Sigma \alpha^r - \Lambda \alpha + \Sigma = 0$$

$$\alpha^r - \alpha + 1 = 0 \rightarrow \alpha = 1$$

$$r - \Lambda + m - r = 0$$

$$m = \Sigma$$

$$y = a(n-r)^r + q$$

$$\sum a + q = 8 \rightarrow a = 1$$

$$-(n-r)^r - 1 < 0$$

$$(n-r)^r - 1 < 0$$

$$x^r + 2 - \sum n \cdot q < 0$$

$$x^r - \sum n - d < 0 \rightarrow (n-1)(n+1) < 0$$

$$\frac{-1 \pm d}{-1 \pm 10 + 1}$$

$$(-1, d)$$

$$P = \alpha \beta = \frac{4\beta}{\alpha}$$

$$S = \alpha + \beta = \frac{V}{\lambda}$$

$$\alpha^r \beta = 4\beta$$

$$\alpha^r = 4 \rightarrow \alpha = \pm 2$$

$$\alpha = +2 \rightarrow \frac{V}{r} = 2 + \beta \rightarrow \beta = -\frac{r}{r} V$$

$$\checkmark \alpha = -2 \rightarrow -\frac{V}{r} = -2 + \beta \rightarrow \beta = \frac{r}{r} V$$

$$-\frac{1}{r} + \frac{r}{r} = \left(\frac{r}{r}\right)$$

$$\beta^r + m\beta - rm = 0 \rightarrow \beta^r - rm = -m\beta$$

$$\alpha^r - m\beta = 1$$

$$\underbrace{\alpha^r + \beta^r}_{S^r - rp} - rm = 1 \rightarrow x^r + \sum m - rm = 1$$

$$m^r + rm = 1$$

$$m = -2$$

$$m = -1$$

$$m = -2 \rightarrow x^r - \sum n + 1 = 0 \rightarrow \Delta < 0$$

$$m = -1 \rightarrow x^r + rm - r = 0 \rightarrow S = \frac{-b}{ra} = (-r)$$

Date:

Sub:

$$\frac{\Lambda}{\varepsilon a} = \Lambda \quad \frac{\Lambda}{\varepsilon a} = \frac{r r a}{\varepsilon a}$$

- 9

$$-(14 - \varepsilon(m) \left(\frac{m}{r} + v \right)) = r r m$$

(5)

$$-14 + r m^r + r \Lambda m = r r m$$

$$r m^r - \varepsilon m - 14 =$$

$$m^r - r m - \Lambda = 0 \rightarrow m = \varepsilon x$$

$$m = r v$$

$$-r x^r + \varepsilon n + 4 =$$

$$x^r - r n - r =$$

$$n = r v$$

$$n = -1 x$$

$$r = r$$

$$y = a(n - r)^r + 4 \rightarrow \varepsilon a + 4 = \varepsilon \rightarrow \varepsilon a = -r \rightarrow a = -\frac{1}{r} - 9$$

$$-\frac{1}{r}(x^r - \varepsilon x + \varepsilon) + 4 \rightarrow -\frac{1}{r}x^r + r n - r + 4 \rightarrow -\frac{1}{r}x^r + r n + \varepsilon -$$

(5)

$$-x^r + \varepsilon n + \Lambda$$

$$\frac{1}{a} + \frac{1}{b} = \frac{\varepsilon}{-1} = \left(-\frac{1}{r} \right)$$

$$x = r \rightarrow \varepsilon - \Lambda a - \Lambda + r a^r + 4 a + r =$$

$$r a^r - r a - 1 = \rightarrow a^r - r a - r =$$

$$\begin{cases} a = 1 \\ a = -\frac{1}{r} \end{cases}$$

(5)

$$a = 1 \rightarrow x^r - \Lambda x + 1 r =$$

$$\begin{cases} n = (4) \\ n = r \end{cases}$$

$$a = -\frac{1}{r} \rightarrow x^r - \frac{\Lambda}{r} x + \frac{\varepsilon}{r}$$

$$\begin{cases} n = r \\ n = \left(\frac{r}{r} \right) \end{cases}$$

$$x = 4, \frac{r}{r}$$